EARAZROREIERT — 2 N—XBISY —F 201552827H (£) 18@EK#H5H

KB+ 5% 3% 2458128 3AKH ‘ [Xfg] WS ‘ [EBE] - | & (&) 14000 RE
[A&4£] 17 1,400,000 @ 2 3 :490,000 . 33 :280,000  ~ 4 3#&:210,000 @ . 5 7 :140,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S o EIREER . -2 - FERMZE (KH)
1107111 AN I W7 3 540 1'(2_6)'5 122 5.1 ° (421) RREESR
gy —3I)F7> B:YaIT v Eaapis
= et :07. -10- . = JEFEH (/)\HE)
2 3 S EE N 4 3 3@.0 1(247)3 11-10-9 | 37.2 1 (5:)42) S
L:d7—3IUT7> BYMTE Y — biYatse ]
TS 43 | WisHt 1:27.6 4-3-3  |39.0| - 6 507 | #ER (K3H#)
31812 TA7Y 7o 56.0 (1 1/2) (+1) %Z?Eﬂﬁﬁ
L:x&—)rd0-x BHATLF25T P e
— S, A 4 3 | BEE 1:27.9 5-5-4 |38.9| — 3 484 | BEEH (KH)
415|6 A AV 56.0; (1 1/2) ) EHR=EK
:rA7%x B:7x—A0 #RAEHE IVFCTr—L
T 3 | SHER 1:28.0 7-6-6 38.9| — 8 448 | BAME (IHE)
5 8 2R N 54.0 (3/4) (+6) %EEE’@%
LNNLVTSY BTUELT 1 772 RE
o ft 3 | tEAEE 1:28.2 10-7-7 [38.8| — 2 484 | EBH= (KH)
6 4 7>l 54.0 (3/4) +2) FiEtEE
L:oxq4o B:I7)>T TRIEREAS
O #1138 : -9- — TeILBETE (/)\HE)
7lglis| F—F>x%a— i 3 Al 1.(228>.6 12-9-10 | 38.6 4 (ﬁg) e
L74NVKTy Y2 BT U—H—F> ERT7—L
- s .= (EZ9 S : —13- — BAME (/)
8l5l7|T1v2a7ESU— 43 8 1(.12/82.)7 13-13-12 | 37.7 7 <4+810) oy
R:TL>FFEaT1 B:UCHTU— TIE8T7— L
3 N 4 3 | AMEEX 1:28.7 8-10-11 | 38.6| — 9 457 | fEKE (1K)
9 2| ILTTLAN— 54.0 (742%) (+5) éﬂi%i’&
L:¥xrin1O0— B:EEY RKN-F Lalzke]
. ARER : -8 = HEHR (KH
N BEEEET Iy % 3 | EER (o] 6-8-8 | 39.5 10 (ﬂg) e (X3h)
RTANRTy Y2 BiLA1I1> HET7— L
Sy 4s T 3 | 1EBEIEAE 1:29.1 2-1-1 40.9| — 12 459 | MBFIR (KH)
11 9 SIIEZTIV i 54.0 (74%) 0 EBREE
L=V FINTya BiY—=« EE RRME
. =E R : -4 — i€ (KFH)
11| Erg=7U—F i 3 il 1.(350).1 3-4-5 | 41.2 12 (434) s
LN=VFNTya BTN — Bt KMEX7-T
S5 i = 4 3 | FHINER 1:30.5 8-12-13 [39.8| — 11 425 | PAIE (KH)
1317110 Z27)% g1 -5 54.0 () (3) | THEEH
R IRy b B:T7L2F K= BATCHTHS
® I—F—@EBIERL
13—-7-
20—4— 11,9,1,12,6,5,8,(2,10),4,3,13,7
3T—7— 9,11,12,1,6,8,4,5,13,(2,3),10,7
41—F— 9,11,12,6,1,8,4,5,3,13,2,7,10
[ RN
-y 1 1,120 | | 71 K 3-11 440/ | | B = 3-7 1,250/ | | 3&4& | 3-11-12 4,720M
BB 1 250H 11-12 1,320H B =8 3,940 EE 11-3-12 26,340
3 130H 3-12 680M B = 3-11 1,410/
12 200M B H 11-3 3,200M

ABICOVWTRDTEEERROODE. TR LIV,



